Present Indefinite Tense in English and Urdu with

Examples

Present Indefinite Tense is used for those actions which
happen in the recent time. It is used to talk about daily

routine.
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Helping Verbs and Form of Verb

Helping Verb: Do / Does

Form of Verb: 1% Form

Note: we use 1% form + "s/es/ies” with singular subjects

in positive sentences.

In this tense we do not use helping verb in positive

sentences.
Do =1, We, You, They, (Plural Subjects)

Does = He, She, It, (Singular Subjects)




Affirmative/Simple Sentences — 2 f¥d_L i Fosl

Formula: Subject + 1V + (s,es,ies) + Object + .

| go to school. LU I
He cooks food. -44»@%,
She reads a book. ey U (s
They want a car. -@Z:j,tgwuﬁu
You write a letter. _,gﬁp'/"
They talk too much. Y- lY
| go to academy daily. ST A DI,
Akram and Shazia ask _g@ngwm(ﬂ
questions.
He teases him. STy
They always get late. ‘Uj"q—;/{;}:‘?o)

Negative Sentences — z f¥J_t =13 g1/ &

Formula: Subject + Do/Does + not + 1V + Object + .




By adding “do/does not’ to positive sentences of present
indefinite tense and removing ‘s,es,ies” from the first

form with singular subjects we can simply make negative

sentences.
She does not wash -éf;uﬁgg@
clothes.
He does not go to school. b JF s
| do not go to school. e U
They do not play cricket. Zf{u"”&f//u
We do not go there. Sty I
Akram does not go to -L“LMW';@T(M()T
Islamabad.
We do not tease them. L/u“.f“uwf
He does not read a book. Lty g o
We do not learn Urdu. ,"é’uﬁw!ﬁ
He does not speak Arabic. -Oi,uﬁd/o;




Interrogative Sentences — «/# Jly
Formula: Do/Does + Subject + 1V + Object + ?

We add helping verbs "do/does’ at the beginning of the
sentence and at the end of the sentence we add

”
.

‘question mark (?)

Does she read a book? s Ul
Do they play football? 19, &{)gw’a;g{
Does she go to college? 4.4,8%Kug/
Do we speak English? sy FImy
Does she speak Arabic? PRy g
Do they wash clothes? sujl,fmx[uy/
Does Akram write a letter? st iy
Do we cook food? SU;LQL'J(TQ/
Does he beat him? s bulelost)
Do you teach Urdu? s by T




Practice Exercise:
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